6. ro¢nik — sesity

¢.520 3x (2xM, 1xF)

¢.440 5x (2xM, 1xPR, 1xZ, 1xF)

&.464 1x (1xCJ)

¢.524 6x (2xCJ, 1xPR. 1xZ, 1xAJ, 1x INF)
¢.544 3x (1xVZ, 1x0OV, 1xAJ)

¢.564 1x (1xD)

&.540 1x (1xPC)

notovy seSit  1x
6.C navic do AJ 3x ¢.524, 2x ¢.564

7. ro¢nik — seSity

¢.520 3x (2xM, 1xF)

&.440 5x (2xM, 1xPR, 1xZ, 1xF)
¢.464 1x (1xCJ)

&.524 5x (2xCJ, 1xPR. 1xZ, 1xAJ)
¢.544 3x (1xVZ, 1xOV, 1xAJ)
¢.564 1x (1xD)

¢.540 1x (1xPC)

notovy sesit  1x
7.C navic do AJ 3x ¢. 524, 1x¢.564

8. ro¢nik — sesity

&.520 4x (2xM, 1xF, 1xCH)

¢.440 6x (2xM, 1xPR, 1xZ, 1xF, 1xCH)
¢.464 1x (1xCJ)

¢.524 6x (2xCJ, IxPR. 1xZ, IxAJ, IxHV)
&.544 4x (1xOV, 1xPC, 1xAJ, 1xNJ)
&.564 2x (1xD, 1xNJ)

8.C navic do AJ 3x ¢. 524, 1x¢.564

9. ro¢nik — sesity

¢.520 4x (2xM, 1xF, 1xCH)

¢.440 6x (2xM, 1xPR, 1xZ, 1xF, 1xCH)
&.464 1x (1xCJ)

&.524 6x (2xCJ, 1xPR. 1xZ, 1xAJ, 1x HV)
¢.544 3x (1xVZ, 1x0OV, 1xAJ)

¢.564 2x (1xD, 1xNJ)

9.C navic do AJ 3x €. 524, 1x¢.564



